ADMIN-AUDIT / PURCHASE DIVISION Advice for Credit to Supplier - Manual

Date:		01.03.24	Prepared	by	V. RAV)	Serial no.		
Supplier nar	me	SRI SAI R	AM E	LECTE	CICALS		HO inward	l no.	
Firm/Comp	any	G.V.R.C	Project		Innope	lis	HO receive	ed date	
PO/WO dat	e	06.08.12	PO/WO	No.	94701	ŝ.	Scan ID.		
Sl no.		Bill no.		Bill	date]	Bill amount		Original attached
1.	24	12023-24		31.01	.24	48	,46,610	- 00	Yes No
2.							1		□ Yes □ No
3.									□ Yes □ No
4.									□ Yes □ No
Amount A	- Bills to	otal (Excluding Trans	sport & Ha	mali Charg	ges):			48,1	46,614-00
Proof of del	livery by	way of: DCs/bill	□ Steel re	port 🗆 RM	C pour repor	t 🗆 Sol	id block rep	ort 🗆 Ins	stallation report
MRN nos.:		118553					of delivery es MRN	V	□ Yes □ No
Amount B	Other (Credits: Transportation	on charges					-	
Amount C -	-Other I	Debits:				= 12			
Amount D ((D=A+E	B-C) – Amount to be	credited to	the suppli	er:			48,	46,614-00
Amount E -	-PO/W	O value:				9			9,9114-00
Amount F -	- Differe	ence (A – E):							,52,500 N
Quantity red	ceived a	s per PO /WO	V	□ Yes □	Excess recei	ved □ Sl	nort received	l 🗆 Part i	received
Close PO /	WO		V	□ Yes □	No – wait fo	r balanc	e material	Other	
Payment - o	due date)		601	. Adva	nce P	ed.		
Remarks:		-fin	J 5:1	1.					
Approve	ed by	Purchase Officer		chase nager	MD)	Accoun	ntant	Accounts Manager
Name:				PAVI					
Sign:			(Q,	\ /				
Date			01.0	3.24	The state of the s	SE	1		
Approval li	mit	Upto 20k	Above 2	0k	Above 100	k -oh	Upto 20k		Above 20k
			4.	1.1	1 1 1	CVIC	h accounter	te to nre	pare IV for dehit or c

Notes: 1. In case amount to be credited to supplier and the bills total does not match, accountants to prepare JV for debit or credit.

2. This set should only have 5 documents i.e., advice to credit to supplier, original bill, proof of delivery, original purchase order with barcode, original requisition. 3. Do not attach additional documents like weighment slips, RMC batch reports, duplicate documents, Eway bills, test reports, etc. 4. In Amount A, exclude transport, Hamali charges, etc., and instead include in Amount B. 5. This report must reach HO within one working day of approval by purchase officer/purchase manager.

EN 25/03/24

PO no.:	94706 PO date:	06/2/2022 Req	. no.:	6504 A	dvice Scan ID		
Barcode	d PO available	Invoice original available	□Y/□N VØCo	True True	POD available V/ N		
Data req	uired from site/engineers:			17	Top available PB1/B14		
MRN no	s. related to PO 11 S	522					
□ Part m	aterial received.	Full material received.		□ Materi	al not received.		
□ Close	PO - Balance material will be		on.	- I water	at not received.		
	PO. Material not required.	□ Cancel PO. Material v		ered by new re	quisition		
□ Keep I	O open. Material required.	□ Keep PO open. Work			1		
	by engineer: FULL	Material &	Platra	001100	Ose Po		
Notes: 1. P	rovide details of material received by if available. 4. This entire set to be s	v way of separate attachment 2 D.	vide scanned cop	py of DCs/proof	of delivery + PO. 3. Provide copies		
Prepared	by Thin wi	Sign: Sign:		Date:	a-1012021		
Data requ	uired from accounts:	1 40		1546.	27/2/2004		
0	Checked with E&D for	r receipt of bills.		2.14 (3.0)			
□ Bills no	ot received against this PO.	Part bill received again	st this PO.	n All hills	received against this PO.		
Advance	ce paid against this PO		9,823-0				
Details of	f part bill received:	1 50,1	1,000	9	Anom.		
Sl. No.	Bill no.	Bill date	Bill amour	nt	Cr. given to supplier		
1.	36 2027 - 23	17.03.2023	1075	2 (00	Yes .		
2.	00,104,6	11.03.20.23	15/15	2,500	19,		
3.							
Remarks	by Accountants:	-					
Prepared	by: ch-Divua	Sign: Diegra		Date: 25	tolon		
Notes: 1. PC	Os/WOs issued for turnkey works - m	ay have been processed by E&D. Cl	heck before fillin	g the above.	1 (7)		
Prepared	by:	Sign:		Date:			
Remarks	by Ravi + details of bills to be	approved:		1			
Sl. No.	Bill no.	Bill date	Bill amoun	t	MRN no.		
1.	24/2023-24	31.61.2024	48,4	6,614-00	118553.		
2.							
3. Remarks:	Need MD'	1 Depared for	1 1000	1			
Prepared l		Sign:	en close	Date:	ce copy.		
	MD - action to be taken.	l oldu.	2	Date:			
	ified bill from supplier (not or	riginal) [DPre	nara hill in CC	I I D for mate	-inlamatical		
0	Close PO	lor cream to supplier and send		O open. Mater	rial associad		
0		with supplier. Get supplier's l		o open. water	iai awaiicu		
Remarks:	71000uits to be reconciled v		ouger.				
	by: Soham	Sign:	Date		Vel		
pproved	oj. Bonam] J.g.i.	Date	·•	SHOVED BY		
					DRU I		

SRI SAI RAM ELECTRICALS & ENGINEERING WORKS

Shope no-5,Block No-14,Prajay City. MIYAPUR, HYDERABAD, TELANGANA, 500049

Phone: 09949093898. E-Mail: ssre1969@gmail.com GSTIN: 36AMIPP8856B1ZQ ORIGINAL FOR RECIPIENT DUPLICATE FOR TRANSPORTER TRIPLICATE FOR SUPPLIER

Invoice No:

24/2023-24

Date

1/31/2024

				Date	1/31/2024
	ll li	VOICE	en en grant de la colonia de l	 A su promoveramente activamento en estra estado en entre en	et gestere gevinnen er ett er er en
Name 8	Address of Consignee :		Mode of Tra	nsport:	By Road
M/S G	V Research Centers Pvl Ltd.		Vehicle No :		
	384, 2nd Floor.		TAX INVOIC	E NO	24/2023-24
Soham	Mansion, M G Road.		Date		1/31/2024
Secund	erbad.		PLACE		
Telanos	na .India -500003.		REVERSE		
	36AAHCG4562D1ZP		P.O No : P.O Date :	94706/206504	
SI. No		HSN Code	QTY	Rate	Amount
1	Dismantle existing poles and towers	995461	11.5	75000	862500
2	Stringing of 100sqmm conductor	995461	2520	150	378000
3	Supply& Erection of M+12 Towers	7308	4	487500	1950000
4	Supply & Laying of 25x3 G.I Flat	72121010	140	175	24500
5	Supply & Erection of G.t Pipe for tower earthing	72122090	14	3500	49000
6	Civil work of M+12 tower	995461	14	35000	490000
7	Supply & Erection of 150mm dia G.I Pipe	72122090	6	1500	9000
8	Erection of 33KV polymer/disk Insulator	995461	42	400	16800
9	Fixixng of 33KV double Jumpering	995461	6	2500	15000
10	Laying 33KV 400sqm Cable	995461	125	2500	312500
	<u> </u>		1		
1. All c	ispules are subjected to Hyderabad Jurisdiction.	Total			4,107,300.00
2. In c	use the bill is not paid on the first presentation	Packing Charg	es		
inter	est @36% P.A will be charged.	Taxable Value			4,107,300 00
3. Our	responsibility ceases after the goods handed over	CGST @		9%	369,857.00
to tr	ansporter,	SGST @		9%	369,857.00
4. Goo	ds once sold are not returnable.	IGST @		28%	
	sales invoice denotes that the consignee has	Grand Total			4,846,614.00
agre	ed to the above Terms & conditions whether present	Total Bill Amou	unt :		4,846,614.00
phys	sically or not.	Rupees :	Fourty Eight I	akh Fourty Sox Ti	nousand And Sta
Bank D PUNJA	etails : B NATIONAL BANK	Rupees :Fourty Eight Lakh Fourty Six Thousand And Six Hundred Fourteen Only.			
	INT NUMBER : 4532002100000721 de : PUNB0463200	Packing Charges			

Declaration: Certified that the perticulars given above are true and correct and the amount indicated represents the price actually charged and there is no flow of additional consederation directly or indirectly from buyer.

For Sri Sai Ram Eleganor & Engineering Vision Bright Strategy Control of the Cont

INWARD

INWARD

Inward No: IH84 Dt: 87 2124

MRN No: IT8 SSS Dt: 87 2124

MRN No: IT8 SSS Dt: 87 2124

MRN No: IT8 SSS Dt: 87 2124

14-02-2024 12:59:54

Orlginal / Office Copy / Purchase Div.Copy

From Company: G V Reserch Centers Pvt Ltd

5-4-187/3&4, II nd Floor, Soham Mansion, MG Road, Secunderabad-500003

G S T No.: 36AAHCG4562D1ZP

Supplier Details			and the state of t	
SRI SAI RAM ELECTRICAL	Doc No	94706	206504	
Flat No. 203, Block No.2, Prajay City Apartments, Miyapur, Hyderabad -		Doc Date	06-12-2022	
		Quote No	SSRE/Q/G	VRC/27/22-23
GSTIN 36AMIPP8856B1ZQ		Quote Date	06-11-2022	
040-23042308	9949093898	SupplyType	Supply An	d Installation

Kind Attn: P. SURESH

Work Order for the Supply of following Items.

Item Name	Qty	Rate	Dis%	GST	Amount
417000 - ELEC-Electrical - Power Supply NA - LS	14.00	487,500.0	0.00	18.00	8,053,500.00
Supply, Erection , Testing and Commissioning of M+12 Galvanising Towers with all accessories, nuts, bolts etc., complete					
417000 - ELEC-Electrical - Power Supply NA - LS	140.00	175.00	0.00	18.00	28,910.00
Supply and laying of 25 x 3 mm GI Flat with all accessories and connections etc., complete Supply and laying of 25 x 3 mm GI Flat 417000 - ELEC-Electrical - Power Supply NA - LS	14.00	3,500.00	0.00	18.00	57,820.00
Supply and erection of GI Pipe Earth station with coal and salt/ Betonite powder, funnel and CC chamber etc.,complete as per IS 3043.	24,00	3,300.00	0.00	10.00	37,620,00
417000 - ELEC-Electrical - Power Supply NA - LS	14.00	35,000.00	0.00	18.00	578,200.00
Civil Works for erection of above towers with M-20 Concreting, excavation of pit and refilling etc., as per structural design approved by structural consultant (SVPCPL)					
417000 - ELEC-Electrical - Power Supply NA - LS	11.50	75,000.00	0.00	18.00	1,017,750.00
Dismantling of existing unipole towers including foundations and handing them over to TSSPDCL stores including all labour charges and transportation etc., complete.					
417000 - ELEC-Electrical - Power Supply NA - LS	125.00	2,500.00	0.00	18.00	368,750.00
Laying, testing, commissioning of cable 3CX 400 sq mm 33KV cable, road cutting (trench of 1.2 M depth X 0.35M wide, and backfilling) including supply and laying of 200mm dia Hume pipe (Cable to be supplied by TSSPDCL)					
417000 - ELEC-Electrical - Power Supply NA - LS	6.00	1,500.00	0.00	18.00	10,620.00
Supply and laying 150mm GI pipe for cable at bay side with all accessories etc., complete.					
417000 - ELEC-Electrical - Power Supply NA - LS	2,520.00	150.00	0.00	18.00	446,040.00
Stringing, testing and commissioning of 1 run of 100Sq.mm Conductor(Conductor would be supplied by TSSPDCL)					
417000 - ELEC-Electrical - Power Supply NA - LS	42.00	400.00	0.00	18.00	19,824.00
Erection, testing and commissioning of 33KV Disc / Polymer insulators with all accessories etc., complete. (Insulators shall be supplied by TSSPDCL)			1		
417000 - ELEC-Electrical - Power Supply NA - LS	6.00	2,500.00	0.00	18.00	17,700.00
Fixing of 33KV double jumpering at cut points					
LL		Total Ord	ler Value	10	0,599,114.00

Terms and Conditions :-

Authorised Signatory

Specification / The above WO is for	GVRC site 33kV HT Power Supply Works.
-------------------------------------	---------------------------------------

Payment Terms 20% advance with WO, 60% against material delivery at site, 10% against installation & 10% against commissiong.

For GV Reserch Centers Pvt Ltd

Accepted the above Terms And Conditions

For SRI SAI RAM ELECTRICAL ENGINEERING WORKS

	Name :	Date :/_/
Name :		

Work Order

Page(s) 2 Of 2	14-02-2024 12:59:54	Original / Office Copy / Purchase Div.Cop
Ťax	All taxes included in above price.	
Delivery Date	10-12 weeks from the date of final approval of drawings.	
Delivery Location	Innopolis	
	Sy no-542, Genome Valley, Thurkapally, Hyderabad, Telangana	
	Phone. Nagamani(Engineer) - 7981951035	
Penality For Delay	NIL.	
Transportation	Included in the above price.	
Warranty	NIL.	
Advance Paid	Rs: 21,19,823 by Cheque/RTGS. Cheque no:,dated	
Other Terms	We reserve the right to reject items not conforming to quality and specifications.	
Completion Date	NIL.	
Measurment	NIL.	
Security	NIL.	
Remarks	Original Invoice + Copy of proof of delivery is required to process invoice for payme site. Original Invoice must be sent to Head Office. Proof of delivery/DC can be sent	ent. DO NOT send original invoice to t by email.

For GV Reserch Centers Pvt Ltd Authorised Signatory

Accepted the above Terms And Conditions

For SRI SAI RAM ELECTRICAL ENGINEERING WORKS

Name :	Name :	 Date ://

SRI SAI RAM ELCTRICALS & ENGINEERING WORKS CHOLINE FOR PERMIT DUPLICATE FOR TRANSPORTED Shope no 5 Block No 14 Prajay City THIS ICATE FOR CLUSS AN MIYAPUR NYDERABAD TELANGANA 500049 Phone 29849293898 F.M.S. see 1969 Committee GSTIN: 36AMIPP8858B1ZQ invoice fac 30/2022 25 Cate 97.000.2009.8 INVOICE Name & Address of Consigner Mode of Transport By Mond MAS G V Research Centers Fvt Ltd. Vetricus No --5.4 (87354 2 td Flory TAX INVOICE NO 36/2072.75 Server Marsey M.G.Road Oafe 17 03 2023 Securiorism PLACE MYGERABAD Telangana India 300003 REVENUEC STW MARK GASSING F Q No. 94706 P O Date 06-11-2022 No HSN Louis gty 自由法 Amount Supply & Erection of M+12 Galvanised Towers 730A 10 487800 4875000 INWARD | ward No: 11712 DI: 04/04/2/3 MAN No: Du Received, By; Sign: Rajeth OVR.C. PYT. LTD 42 o soutes are subjected to Hyderical Jurisdiction. Total 48 75 000 00 case the ball is not paid on the first presentation. Packing Charges West 1 20 PA was the charged Tavable Valve a responsibility causes after the goods handed over **46**75 000 00 CGSTA Tansconer. A.34 750 DC SCST @ cos rivos solo are not returnable 94 4 08 750 bo IGST @ s sales invoice denotes that the consignee has 28% hed to the above Terms & conditions whether present Grand Total 57,52,500.00 SCHOOL DEL Yotal Bill Amount 57,52,500.00 Ottobe Rupees: Fifty Seven lakes Fifty Two Thousand and Five Hundred AE NATIONAL BANK JUNT NUMBER : 4632092190000721 08e PUNB0463200 Packing Charges their Centers from the performers piver alse up not true and correct and the amount indicated ents the price actually charged and there is no flow of addreshed consequention directly or indirectly from:

SRI SAI RAM ELECTRICALS & ENGINEERING WORKS

Shope no-5, Block No-14, Prajay City. MIYAPUR, HYDERABAD, TELANGANA, 500049

Phone: 09949093898, E-Mail: ssre1969@gmail.com

GSTIN: 36AMIPP8856B1ZQ

ORIGINAL FOR RECIPIENT

DUPLICATE FOR TRANSPORTER TRIPLICATE FOR SUPPLIER

Invoice No:

24/2023-24

Date :

1/31/2024

Ī	N	V	0	1	\overline{C}	E	_

Name & Address of Consignee :

M/S G V Research Centers Pvt Ltd.

5-4-187/3&4, 2nd Floor,

Soham Mansion, M G Road,

Secunderbad,

Telangana ,India -500003.

GSTIN: 36AAHCG4562D1ZP

Mode of Transport:

Vehicle No:

TAX INVOICE NO

Date

24/2023-24 1/31/2024

By Road

PLACE REVERSE C

P.O No :

94	1001201	9304
	11/6/20	22

GSTIN.	30AARC 34302D 12F		P.O Date :	11/6/2022	
SI. No		HSN Code	QTY	Rate	Amount
1	Dismantle existing poles and towers	995461	11.5	75000	862500
2	Stringing of 100sqmm conductor	995461	2520	150	378000
3	Supply& Erection of M+12 Towers	7308	4	487500	1950000
4	Supply & Laying of 25x3 G.I Flat	72121010	140	175	24500
5	Supply & Erection of G.I Pipe for tower earthing	72122090	14	3500	49000
6	Civil work of M+12 tower	995461	14	35000	490000
7	Supply & Erection of 150mm dia G.I Pipe	72122090	6	1500	9000
8	Erection of 33KV polymer/disk Insulator	995461	42	400	16800
9	Fixixng of 33KV double Jumpering	995461	6	2500	15000
10	Laying 33KV 400sqm Cable	995461	125	2500	312500
1. Ali	disputes are subjected to Hyderabad Jurisdiction.	Total			4,107,300.00
2. In c	ase the bill is not paid on the first presentation	Packing Charg	es		
inte	rest @36% P.A will be charged.	Taxable Value			4,107,300.00
3. Our	responsibility ceases after the goods handed over	CGST @		9%	369,657.00
to to	ransporter.	SGST @		9%	369,657.00
4. God	ods once sold are not returnable.	IGST @		28%	
5. This	s sales invoice denotes that the consignee has	Grand Total			4,846,614.00
agri	eed to the above Terms & conditions whether present	Total Bill Amou	unt:		4,846,614.00
phy	sically or not.	Rupees :	Fourty Eight	Lakh Fourty Six	Thousand And Six

Bank Details :

PUNJAB NATIONAL BANK

ACCOUNT NUMBER: 4632002100000721

IFS Code: PUNB0463200

Hundred Fourteen Only.

Packing Charges

Declaration: Certified that the perticulars given above are true and correct and the amount indicated represents the price actually charged and there is no flow of additional consederation directly or indirectly from buyer.

"TRUE COPY"